A company needs to recover a domain controller from a backup file they have on premises which was created by the Veeam Agent for Microsoft Windows. Which of the following would
pravide the fastest access to the domain controller?

A. Use the Veeam Explorer for Active Directory to recover the domain controller

B. Perform an Instant VM Recovery to recover the domain controller to a VM on their WiVlware host
C. Perform a bare metal recovery of their domain controller back to the original system
D

. Recover the domain controller to an AVWS EC2 instance using the restore to Amazon EC2

Answer: B

When deploying an advanced single-host virtual lab in a VIMware environment, what will Veeam create?

A A distributed virtual switch with uplinkis)

B. A standard vitual switch with uplink(s)

C. A distributed virtual switch without uplink(s)
D. A standard virtual switch without uplink(s)

Answer: B

To suppress Veeam OMNE alarms under specific conditions or when a specific event occurs, which of these options can be selected? (Choose three.)

A_ High CPU usage

Veeam backup activity
Snapshot creation
Storage snapshot deletion

Storage snapshot creation
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Snapshot deletion

Answer: BCF



A customer currently has one backup job that runs every four hours to backup their VIMs in a transaction consistent state. Which job configuration will keep all restore points safe in case the
primary site and backups go down while still being able to do a point-in-time recovery of a SQL database from the backups on the second site?

A_ Configure a second VM backup job and schedule it to copy every four hours, starting at midnight, to a repository on the second site

B. Configure a backup copy job in mirror mode, to a repository on the second site

C. Configure a backup copy job in pruning mode and schedule it to copy every four hours, starting at midnight, to a repositery on the second site

D

. Configure a backup copy job in pruning mode and have it copy data every day, starting at midnight, to a repository on the second site

Answer: A

A company needs to maintain and verify backups at a secondary site to meet the following requirements: RTO of two hours, RPO of 12 hours, four weeks retention. Which of the following
backup copy job configurations meets these requirements?

A_ Periodic backup copy job, scheduled for a two-hour interval, with 56 restore points to retain
B. Periodic backup copy job, scheduled for a 12-hour interval, with 56 restore points to retain
C. Periodic backup copy job, scheduled for a two-hour interval, with 112 restore points to retain
D

. Periodic backup copy job, scheduled for a 12-hour interval, with 112 restore points to retain

Answer: C



